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ForwardA = 00 First ALU operand comes from the register file

ForwardA = 01 Forwarded from the previous ALU result

ForwardA = 10 Forwarded from data memory or 2"d previous ALU result

ForwardB = 00 Second ALU operand comes from the register file

ForwardB = 01 Forwarded from the previous ALU result

ForwardB = 10 Forwarded from data memory or 2"d previous ALU result
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Clock cycle = 1/Clock rate;     Clock rate = Cycles per second











AMAT = Hit time + Miss rate × Miss  penalty 








Memory stall cycles = Combined Misses ( Miss Penalty


Miss Penalty: clock cycles to process a cache miss 


Combined Misses = I-Cache Misses + D-Cache Misses


I-Cache Misses = I-Count × I-Cache Miss Rate


D-Cache Misses = LS-Count × D-Cache Miss Rate


LS-Count (Load & Store) = I-Count × LS Frequency





Hit Rate= Hits / (Hits + Misses)    


Miss Rate= Misses / (Hits + Misses)


I-Cache Miss Rate = Miss rate in the Instruction Cache


D-Cache Miss Rate = Miss rate in the Data Cache











